= A
N = 0] &F AF S & AN A
2022 = 20l A LBHSH Al 20 D
SN AR
Hu: DER SM2 M08 7S
Sl AZFOl OIHE MADIE RE (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
AleE2 o 0 498,683,353 448,326,971 50,356,382
= 28,212,677
g 600,000
Jl 366,293,323
= 103,577,353
NEE iat=a MAD|eE 25 498,602,665 448,249,541 50,353,124
= 28,212,677
g 600,000
Dl 366,293,323
= 103,496,665
2Fo| OFM M MA)|BE R x 434,767,215 385, 135,307 49,631,908
= 5,935,000
J| 358,883,060
o= 69,949,155
NEE SHE MAD|IB R 2 FX 12,565 14,833 A2,268
201 et 9| 10,000 12,125 A2,125
02 2324 10,000 10,000 0]
OFAOSH=83 =2 10,000,000 10,000
203 R F & 2,565 2,708 AN 143
03 AIZH =X 2= X H| 2,565 2,708 AN 143
Osige=4a 2,565,000 2,565
sHATNIAHG g4 29 2,116,800 1,650,000 466,800
308 XAHXIGH SO0l & 2,116,800 1,650,000 466,800
01 AIKISHHEMNEXZ 2,116,800 1,650,000 466,800
OsXgect 4 - 24 2,116,800,000 2,116,800
SENENAX AL 520,000 156,000 364,000
= 400,000
= 120,000
308 AMXISHMSOIA 520,000 156,000 364,000
= 400,000
= 120,000
01 HXHHIMNEEXTZ 520,000 156,000 364,000
Os&E1nsgod & 520,000,000 520,000
= 400,000
= 120,000
Q2Q2Z X} JI=A HE 520,000 0 520,000
= 400,000
= 120,000
403 XX SHS K20 & 520,000 0 520,000
= 400,000
= 120,000
01 XS A2E X 520,000 0 520,000
QZ2OI2Z2 A JISAF HE 520,000,000 520,000
= 400,000




2N
X ZH -
L= B

el

Azl ol 3t
DEI a2 YIS
Mol OHFE MAIIB RS

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| == 120,000
A=QAEZEZN K& 105,000 0 105,000
308 AHAIEHHSOIA 105,000 0 105,000
01 HXNHHNBHEELS 105,000 0 105,000
AIUAEZZ2 X Aot K&
105,000,000 105,000
S22 ot MA BE 2 XA (I A) 11,745,900 9,627,900 2,118,000
308 XX EHH SOl A 11,745,900 9,627,900 2,118,000
01 X HHILEXS 11,745,900 9,627,900 2,118,000
OsgeletdMoi 28 K& 1,305,900, 000 1,305,900
O=s&H2MAHEE K& 9,369,000, 000 9,369,000
OsJIHEgE" N 1,071,000, 000 1,071,000
g SAX=H NE A 355,000,000 336,000, 000 19,000, 000
J| 355,000,000
308 MXIEHMSOIH 355,000,000 336,000,000 19,000, 000
J| 355,000,000
01 HIXNHHNBMNEELS 355,000,000 336,000,000 19,000, 000
OJled S4a=H X& 355,000, 000,000 355,000,000
J| 355,000,000
SAAEN #HEH N2 (Z) 55,000 65,000 A 10,000
J| 55,000
201 LBt 46,000 50,000 A 4,000
J| 46,000
01 At 22l 46,000 50,000 A 4,000
OZAXESHAS 2t 16,000, 000 16,000
J| 16,000
OZ3AX =N AL A &3O 30,000, 000 30,000
J| 30,000
202 Odl 9,000 15,000 A 6,000
J| 9,000
01 = LH 4 Hi 9,000 15,000 26,000
OSUXEMAS =& 9,000,000 9,000
J| 9,000
SAXNEN HEH XN (ANZB4) 1,328,060 1,318,060 10,000
J| 1,328,060
308 XtXIEHHSOIA 1,328,060 1,318,060 10,000
J| 1,328,060
01 IXNHHBANEES 1,328,060 1,318,060 10,000
OSUYA=ENELHEH XA 120,060,000 120,060
J| 120,060
OZUNSHAMAZE #FY X
1,208,000, 000 1,208,000
J| 1,208,000




2N
X ZH -
L= B

el

Azl ol 3t
DEI a2 YIS
Mol OHFE MAIIB RS

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEE ZAXNEH 2,500,000 2,500,000 0
J| 2,500,000
308 AHAIEHHSOIA 2,500,000 2,500,000 0
J| 2,500,000
01 HXNHHBHELS 2,500,000 2,500,000 0
O=2EXZINEAN 2,500,000, 000 2,500,000
J| 2,500,000
SEEE s =& X& 51,218,000 26,454,500 24,763,500
201 LBH2E| 18,000 4,500 13,500
02 23224l 18,000 4,500 13,500
Os0ei=g HRAH AAE KX
18,000, 000 18,000
308 XX EHHSOIA 51,200,000 26,400,000 24,800,000
01 HIXNHHBNEES 51,200,000 26,400,000 24,800,000
OFdEE s =& XIF  51,200,000,000 51,200,000
Ss&H2 JIEtAIE &= 964,125 1,156,400 A 192,275
403 UtXISHHE =01 964,125 1,156,400 A 192,275
01 XM A=2EE 964,125 1,156,400 A 192,275
Oalghsr B2 964,125,000 964,125
SIHLAUAY =X L2IH8 sI1H XA 910,000 0 910,000
= 700,000
< 210,000
403 A X EHHS =0l A 910,000 0 910,000
= 700,000
= 210,000
01 X EHHMA=E L 910,000 0 910,000
OF&X L2201 Hs =21H XI& 910,000,000 910,000
= 700,000
= 210,000
SIHYUAISE ST AHLHAIE A XI& 1,040,000 0 1,040,000
= 800,000
< 240,000
403 XSS =0l & 1,040,000 0 1,040,000
= 800,000
< 240,000
01 XM A2E X 1,040,000 0 1,040,000
OsJIHYHAIS &~ XI&A 1,040,000, 000 1,040,000
= 800,000
< 240,000
SIHLUAMY “=sI1H Al XI& 585,000 0 585,000
= 450,000
< 135,000
403 XIS E X201 & 585,000 0 585,000




R
DEF s42 MAIIE T
AlZro] OHEM MAD|EH B

e Ha

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
= 450,000
< 135,000
01 HIXSHMA2E X 585,000 0 585,000
CESIIALHE K& 585,000, 000 585,000
= 450,000
< 135,000
SIHES}EX SRXA 155,150 174,000 A 18,850
2 107,000
< 48,150
403 XIS E X201 & 155,150 174,000 A 18,850
= 107,000
< 48,150
01 AXSHHMA2E = 155,150 174,000 A 18,850
OsJIHESHEX 2= 155,150,000 155,150
= 107,000
= 48,150
AZRSTSAANSY 1S 2l 223,200 0 223,200
= 180,000
< 43,200
308 AHAIEHHSOIA 223,200 0 223,200
= 180,000
< 43,200
01 AXNSHBLEES 223,200 0 223,200
OMZHESTSAYM 0 k!
130,200, 000 130,200
= 105,000
< 25,200
O3 L MAAHT HLX A&
93,000, 000 93,000
= 75,000
< 18,000
AYRSTSFATSS AL 938,680 0 938,680
=2 757,000
< 181,680
403 MHXSHHSA=0l& 938,680 0 938,680
= 757,000
< 181,680
01 HXSHMA=LE L 938,680 0 938,680
OMBHSTEALM AT N2
806,000, 000 806,000
= 650,000
< 156,000
O3 MMATHEH AIZ&FH K&
132,680,000 132,680
= 107,000
= 25,680
AYNE HEH A XE 838,500 717,000 121,500




SN AR
MY DEI S42 MW 2E
ol MO OFE MAIIY TE CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 glz2tol & 62,500 62,500 0
02 PIZHEHAHEE 6,500 6,500 0
ogstgatd d2us XA 6,500,000 6,500
04 QIZFHALAIH B = 56,000 56,000 0
Ofds s4 56,000, 000 56,000
308 XXl EHH SOl A 461,000 339,500 121,500
01 AXSHBLAELS 461,000 339,500 121,500
OMdggs d22g X&E 39,000, 000 39,000
Og AldXs Sttt s4 272,000,000 272,000
OF0tte =sJ1H LdUAE X2 (Z2&0)
150,000,000 150,000
403 Mt S E X201 H 315,000 315,000 0
01 XXM A2 £ 315,000 315,000 0
O=sg& 2og3I X 315,000, 000 315,000
AlSAS MAH 22 K& 907,935 969, 150 A61,215
308 XXM S0 A 357,000 357,000 0
01 AXSGHBLEES 357,000 357,000 0
OMgrate Moyl 22 K@ (2 )
357,000,000 357,000
403 XXM S X201 550,935 612,150 A61,215
01 XXM A=2E = 550,935 612,150 A61,215
OMgrate Moyl 22 X2 (NEEY)
550,935,000 550,935
CF se€IIA E2JIHX X 2,783,300 0 2,783,300
= 2,141,000
< 642,300
403 Ut E X201 H 2,783,300 0 2,783,300
= 2,141,000
< 642,300
01 XXM A=2E £ 2,783,300 0 2,783,300
Ok sgJIAH 2JIHX XA 2,783,300,000 2,783,300
= 2,141,000
< 642,300
=HsII A XA (AP XH) 300,000 0 300,000
308 XXM S0 A 300,000 0 300,000
01 AXNSHHBLAEES 300,000 0 300,000
OUstel= I MsIIAH M HEgs N2
300,000, 000 300,000
NEE SHEN AHIFE J|gt 2= 8,755,200 9,912,006 A 1,156,806
= 6,970,400
< 1,784,800




AN A0
M DEI S42 MMIH 1E
CHelr DEA SUSH AHEX I RE (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
F2L222 I (XIXAM) XE(HE) 58,000 58,000 0
= 58,000
201 €2l 40,000 40,000 0
= 40,000
01 At 22l 40,000 40,000 0
o=zl Lerdy 32,800,000 32,800
= 32,800
o=z =&l 7,200,000 7,200
= 7,200
202 04 Hl 18,000 18,000 0
= 18,000
01 =LHA YI 18,000 18,000 0
o3zl gRF2 18,000, 000& 18,000
= 18,000
F2L222/dl (KIXAM) K& (ANZ2E4) 1,997,000 1,934,006 62,994
= 1,997,000
308 XX EHH SOl 1,997,000 1,934,006 62,994
= 1,997,000
01 HIXNHHNBNEES 1,997,000 1,934,006 62,994
Og=2IMNEX 845,000,000 845,000
= 845,000
O LU K& 1,152,000, 000 1,152,000
= 1,152,000
HAXZHEAIE X 3,322,480 3,191,000 131,480
= 2,812,600
< 509,880
403 MHXSHHSA=0l& 3,322,480 3,191,000 131,480
= 2,812,600
< 509,880
01 HXHHMA=LE X 3,322,480 3,191,000 131,480
ORPC HZE - ME AMAXA 2,559,900, 000 2,559,900
= 2,226,000
< 333,900
ORPC H&AE JHE+ K& 762,580,000 762,580
= 586,600
< 175,980
NEE ABHE ELHAMY 2,418,220 3,565,000 A 1,146,780
= 2,102,800
< 315,420
403 XHXI €I S Xt =201 ® 2,418,220 3,565,000 A 1,146,780
= 2,102,800
< 315,420
01 X ESHHMA=2LE L 2,418,220 3,565,000 A 1,146,780
OLNZEH BHE 4 2,418,220,000 2,418,220
= 2,102,800




SN AR D
x| XH -
L= B

oo T el E )
M. 0 (3H) - HEAY - B2 ﬁlf& HD=2
== 315,420
SEA MM Y RS 829,500 1,011,000 A 181,500
308 AXISHXSOoIH 109,500 111,000 A 1,500
01 AXHNBIMNEXZ 109,500 111,000 A 1,500
OsgHs QA4 NI 13,500,000 13,500
Os&Y B &H X& 96,000,000 96,000
403 XtXIHH S K20 720,000 900, 000 A 180,000
01 RFXIESX A2 8 720,000 900, 000 A 180,000
OSg % L= RPC(DSC) Al&&H| XI&
720,000,000 720,000
A =9 g oIE = 130,000 153,000 A 23,000
201 Bt A H| 130,000 153,000 A 23,000
01 AR 22l ] 130,000 153,000 A 23,000
OFSHE=2C =Sa =8 130,000,000 130,000
ol S & A8 Al A ,670,158 13,571,494 6,098,664
= ,300,277
Dl ,026,263
= ,343,618
Yr=MAAIE OIS XA 355,144 281,300 73,844
J| 244,927
& 110,217
403 XX S H S K20l 355,144 281,300 73,844
J| 244 927
o= 110,217
01 MAXHNMAHEE = 355,144 281,300 73,844
Ol NESZE 3 355, 144,000 355,144
Dl 244,927
& 110,217
FTAAFE A & =8 & 22Hl X& 53,000 53,000 0
Dl 53,000
202 04 d| 5,000 5,000 0
Dl 5,000
04 =H 30 Bl 5,000 5,000 0
OFTAHE S TS = Ao AEIE A
5,000,000 5,000
Dl 5,000
307 QI2t0| ™ 7,000 7,000 0
Dl 7,000
02 A2t A AL 82 7,000 7,000 0
OFTAJI 2 AIE A & g L 2eldl 7,000,000 7,000
J| 7,000
308 AHXISHHSO0IA 41,000 41,000 0
Dl 41,000




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 41,000 41,000 0
OFTAJIZ AtIHE +8 o 22lHl(A2Z4)
41,000,000 41,000
J| 41,000
TSSSWA WA ALY 1,101,472 624,000 477,472
= 847,272
< 254,200
308 AHAIEHHSOIA 1,101,472 624,000 477,472
= 847,272
< 254,200
01 HIXNHHNBMNEES 1,101,472 624,000 477,472
Oxss=2n4 HFLAATY
1,694,572,000%65% 1,101,472
= 847,272
= 254,200
Heet e d==3ust N2 1,405,470 1,372,500 32,970
403 X SHHSA=0l& 1,405,470 1,372,500 32,970
01 XM A=LE L 1,405,470 1,372,500 32,970
Ot d33 =4 333,795,000 333,795
Olt=30E 43I H K& 554,880,000 554,880
ORHAEAE A8 M2MFTD &X 333,795,000 333,795
OJIzdsie Uz |4 183,000, 000 183,000
AMNERAWS U XA 1,093,073 620, 206 472,867
J| 753,843
< 339,230
403 XIS E X201 & 1,093,073 620, 206 472,867
J| 753,843
< 339,230
01 X SHHXN2E= 1,093,073 620, 206 472,867
OAEZ30 sdist 2 Mo 934,733,000 934,733
J| 644,643
= 290,090
OAIRUETHES 4 158,340,000 158,340
J| 109,200
< 49,140
20 =20 ICT 828 K& 874,901 474,768 400,133
J| 631,462
< 243,439
403 MtXISHHE X201 E 874,901 474,768 400,133
J| 631,462
< 243,439
01 AXSHHMA=2EE 874,901 474,768 400,133
OICT =8 ANE"® AEE= 352,901,000 352,901
J| 271,462
< 81,439




A AT

Al
My DEN SM2 M
A

2 X dabd|gt Ald = CHel = &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=dEZ ANETZ 288 =F 522,000,000 522,000
J| 360,000
< 162,000
S0 WX ZZAE XI& 1,652,962 1,752,295 299,333
= 1,139,974
= 512,988
403 MtXISHHE X201 E 1,652,962 1,752,295 A 99,333
= 1,139,974
< 512,988
01 AXSHMA=2EE 1,652,962 1,752,295 A 99,333
OAIZ30 X 2Z A4 1,652,962, 000 1,652,962
= 1,139,974
< 512,988
S 20F ATHMUUHXI AL XS 997,008 99,000 898,008
= 888,031
< 108,977
403 A X EHS =0l A 997,008 99,000 898,008
= 888,031
< 108,977
01 X EHHMA=ZLE L 997,008 99,000 898,008
OXNgHHHAL 4K XA 799,304,000 799,304
= 726,640
< 72,664
O3JI12dgAE N 197,704,000 197,704
= 161,391
< 36,313
DEHIOE THEHAIE R 740,950 777,200 236,250
J| 511,000
< 229,950
403 XIS E X201 & 740,950 777,200 A 36,250
J| 511,000
< 229,950
01 XXM 22 = 740,950 777,200 A 36,250
O1ZF HIJE MHHAIE K& 740,950,000 740,950
J| 511,000
< 229,950
ANEIHAE DSE MAAIE &5 1,533,615 1,398,750 134,865
403 Ut SHHSA=0l& 1,533,615 1,398,750 134,865
01 HXSHMA2E X 1,533,615 1,398,750 134,865
OS2 sIHOIES) A0ER 22 X
959,895, 000 959,895
ORUHEERE MAALE E2 510,000, 000 510,000
ORWAIE ADEE USHOUHALAE RS
63,720,000 63,720
20ES 2 235 4,369,172 2,872,750 1,496,422
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 149,940 366,000 A 216,060
01 HIXNHHBHNEELES 149,940 366,000 A 216,060
OLRI[ALG2A ST E AR
149,940,000 149,940
403 MHXSHHSA=0l& 4,219,232 2,506,750 1,712,482
01 XM A= E L 4,219,232 2,506,750 1,712,482
OdNAE M=astEd X 381,000,000 381,000
OtlAs RUNMNE 2= 54 K2
255,000,000 255,000
OZUAS MANAsE K&
299,982,000 299,982
O0laJI= & Mol tHEasd 2t
225,000,000 225,000
OZUER XNAXEH 3,058,250, 000 3,058,250
NS 448 2 =SAELEXR 255,000 255,000 0
403 A X EHHS =0l A 255,000 255,000 0
01 X HHX2E= 255,000 255,000 0
O3tgl a8 B M 25t 255,000, 000 255,000
3 AHl 243t 150,000 0 150,000
403 HXSHHSA=0l& 150,000 0 150,000
01 X SHMA=LE L 150,000 0 150,000
Ot =828 AX(HEMAZ2SAAIL)
150,000,000 150,000
HessSHARS(MXM2AIE) (RXIEH) 127,467 670,800 A 543,333
J| 98,051
= 29,416
403 A X EHHS =0l A 127,467 670,800 A 543,333
J| 98,051
= 29,416
01 X EHHMA=E L 127,467 670,800 A 543,333
Odl=sdtE M2RSHMA *=5F 127,467,000 127,467
J| 98,051
< 29,416
NReHARS(N2+SXE) (RXIEA) 14,274 62,400 N48,126
J| 10,980
< 3,294
403 MtXSHHSA=0l& 14,274 62,400 N48,126
Jl 10,980
< 3,294
01 X SHMA=2E X 14,274 62,400 N48,126
OfllsttE N2+=8xtE NI 14,274,000 14,274
J| 10,980
< 3,294




SN AR
Hu: DER SM2 M08 7S
Sl RKSH MADIE AlM B (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
gXNETSZIMSEXE(RXIEA) 1,767,000 899,000 868,000
= 1,425,000
< 342,000
403 UHXISHHSA=0l& 1,767,000 899,000 868,000
= 1,425,000
< 342,000
01 HXESHMA=LE L 1,767,000 899,000 868,000
ogasE 2s3IH |4 2,850,000,000%62% 1,767,000
= 1,425,000
< 342,000
HASMAGYI R (A X) 573,300 360,000 213,300
308 XXM SO0l A 573,300 360,000 213,300
01 IXNHHBNEES 573,300 360,000 213,300
OMAFHAHE X 573,300,000 573,300
setE I 2 =2 ¢FENE 540,000 600,000 260,000
308 XXIEHHSOIA 540,000 600,000 260,000
01 AXHHILEES 540,000 600,000 A 60,000
OFestts tAetd I& 540,000, 000 540,000
S22 ANEsUs XA (HA) 178,350 398,525 N 220,175
J| 123,000
< 55,350
403 A X EHHS 20l A 178,350 398,525 A220,175
J| 123,000
< 55,350
01 X EHMA=E L 178,350 398,525 A 220,175
OSEXE MESEUS X (HA, &E)
178,350,000 178,350
J| 123,000
< 55,350
H A4 B Xl 2 el Al E 1,888,000 0 1,888,000
J| 1,600,000
< 288,000
403 A X EHHS =0l A 1,888,000 0 1,888,000
J| 1,600,000
< 288,000
01 X HHMA=LE L 1,888,000 0 1,888,000
O At Xl 2tel 4 E 3,200,000, 000%59% 1,888,000
J| 1,600,000
< 288,000
dEF=sHIIE =4 33,613,097 38,490,621 AN4,877,524
= 10,867,000
s 600,000
Il 3,027,000
= 19,119,097




2N
X ZH -
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el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SMHSUEMEEAAE SN2+ 2,500 5,000 A 2,500
201 £B-2d| 2,500 5,000 A 2,500
02 =224l 2,500 5,000 A 2,500
OZIEEE ANAEH RAE=> 2,500,000 2,500
SIsSUM XA 319,000 319,000 0
= 220,000
< 99,000
308 XXM SO0 A 319,000 319,000 0
= 220,000
= 99,000
01 IXNHHBNEES 319,000 319,000 0
SRINsSIMH K& 1,100,000, 000%29% 319,000
= 220,000
< 99,000
2IEHE XN (HEAY) 13,898,320 17,228,000 A 3,329,680
308 XXIEHHSOIA 13,898,320 17,228,000 A 3,329,680
01 AXHHILEES 13,898,320 17,228,000 A 3,329,680
sIJ12dlg XA 13,898,320, 000 13,898,320
EAMEH K& 12,264,000 12,264,000 0
= 9,722,000
< 2,542,000
308 MtXIEHSOIH 12,264,000 12,264,000 0
= 9,722,000
< 2,542,000
01 HXNHHNBHELS 12,264,000 12,264,000 0
OE2LIMHEH XA 12,264,000, 000 12,264,000
= 9,722,000
< 2,542,000
TS BEHMAAES ALY 130,000 0 130,000
J| 100,000
< 30,000
403 XSS A0l & 130,000 0 130,000
J| 100,000
< 30,000
01 HIXSHMA2EE 130,000 0 130,000
O S ZEIHHAANLS S
500,000,000 *26% 130,000
J| 100,000
< 30,000
Ed=sg XA 900,000 1,350,000 A 450,000
s 600,000
< 300,000
403 UtXSHHS A= 0l& 900,000 1,350,000 A 450,000
s 600,000




2N
X ZH -
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 300,000
01 XM A2E X 900,000 1,350,000 A 450,000
oxgasgd X+ 2,000,000,000%45% 900,000
s 600,000
< 300,000
SYEFdEd T2 292,500 195,000 97,500
= 225,000
= 67,500
308 AXIEHSO0IA 292,500 195,000 97,500
= 225,000
< 67,500
01 AXNSHHEBANEES 292,500 195,000 97,500
SYHSZIEN T2 292,500,000 292,500
= 225,000
< 67,500
QMR AEEse=E N& 650,000 2,384,798 A 1,734,798
= 500,000
< 150,000
308 XXM S0 A 650,000 2,384,798 A 1,734,798
= 500,000
< 150,000
01 AXNSGHBLAEES 650,000 2,384,798 A1,734,798
Ogue A sL=E XA 650,000, 000 650,000
= 500,000
< 150,000
sy RE 2435 435,800 300,810 134,990
201 LBt 42,000 38,250 3,750
01 At 22l 42,000 38,250 3,750
OB sits 2AHBHESY 42,000,000 42,000
307 21201 A 17,000 20,160 A 3,160
04 DIZFHALALSE E X 17,000 20,160 A 3,160
Oxstd=sd= AHIEH XS 17,000, 000 17,000
308 XXM S0 A 376,800 242,400 134,400
01 AXNSGHBLEES 376,800 242,400 134,400
Ogtuzletdsgy ad XA 140,400,000 140,400
Ozgdsists 22 OAE X& 86,400,000 86,400
OSsHAONS ASZ=It Ay 2z (=0
Z0d) 150,000, 000 150,000
=Y et 2= 953,997 826,733 127,264
308 XX EHH SOl A 797,472 744,233 53,239
01 AXSGHBLELS 797,472 744,233 53,239
Oz edsitE sl 432,000,000 432,000
OSB3I MAH 365,472,000 365,472

_13_




A AT

A1
Hu: DBE SM2 MAIE 25
o

Helr dE3sLIIE 24 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 156,525 82,500 74,025
01 X SHMA2E X 156,525 82,500 74,025
OzEI=sg MEE 95,625,000 95,625
Oz adsgy ALEZd 60,900, 000 60,900
dtdsy " |4 352,980 353,280 A 300
307 21201 A 24,300 19,200 5,100
02 UAFAAFEX 24,300 19,200 5,100
Oz ed=e MLt 24,300,000 24,300
308 XAHXIEHHSOIA 98,280 103,680 A5,400
01 HIXNHHBNEES 98,280 103,680 5,400
OZSZsHEHEN 13,500, 000 13,500
Oz azdsgxrs 45,000,000 45,000
OZSZHEU=sFY W= &
39,780,000 39,780
403 MHXSHHSA=0l& 230,400 230,400 0
01 X EHMA=E L 230,400 230,400 0
OZSZHUESRANE X 230,400,000 230,400
SOt E2E B3 120,000 170,000 A 50,000
308 XXM SO0l A 120,000 170,000 A 50,000
01 IXNHHBNEES 120,000 170,000 250,000
Osdotd2 s B3 120,000, 000& 120,000
SISMASS AU ATRST EA A 200,000 0 200,000
2 200,000
308 XtXIEHH SOl A 200,000 0 200,000
= 200,000
01 AXHHBIYEES 200,000 0 200,000
ORIISLLSEMEIAXASR =4
200,000, 000& 200,000
= 200,000
e sgAE=E 2,370,000 2,370,000 0
J| 2,370,000
308 XXM SOIA 2,370,000 2,370,000 0
J| 2,370,000
01 IXNHHBMNEES 2,370,000 2,370,000 0
Oxad=sd AEXNEAM 2,370,000, 000 2,370,000
J| 2,370,000
ZHEBNEE 724,000 724,000 0
J| 557,000
< 167,000
308 XX €I S0 & 724,000 724,000 0
J| 557,000




2N
X ZH -
L= B

el

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
== 167,000
01 HXHHNBIMNEXTS 724,000 724,000 0
OZ2E2NMAEX = A 724,000,000 724,000
J| 557,000
& 167,000
OlaM DBt 224 0HAHE =& 1,796,995 1,140, 113 656,882
= 140,000
Jl 357,000
== 1,299,995
OlAtAA DBt = X & 1,121,995 619,063 502,932
201 et A | 43,550 66,600 N 23,050
01 At 2t2l ] 43,050 65,600 N 22,550
Ocladd 2458 8,500,000 8,500
OfIAMALNARAG 2H 5,100,000 5,100
Oolys ot d HAH 10,000,000 10,000
Oolas otdd HHaxHAH 5,000,000 5,000
Ofolaerx NAHSH FAEH 29 14,450,000 14,450
02 352494l 500 1,000 A 500
Ofolactx MAHS FAE 29 500,000 500
202 04d| 7,225 8,500 AN1,275
01 2L Y] 7,225 8,500 AN1,275
Oolatetx NAHS =AY 29 7,225,000 7,225
308 XX SHHSO0IA 654,000 241,343 412,657
01 AIXHMBAEXZ 654,000 241,343 412,657
OGAPRI E Q01 & M EH| 7,560,000 7,560
Os<ola oAHgY 23 100,000,000 100,000
OO0l M MA=IF AHKH 14,400,000 14,400
OANERE Ol& HefetA 22,500,000 22,500
OolaE I FZAF ot& M 9,540,000 9,540
Os<ola AHIEX 500,000,000 500,000
403 XX S M S X201 A 417,220 302,620 114,600
01 MXHHAEBE = 417,220 302,620 114,600
OJIZHS S oA AXHY 202,620,000 202,620
OO0l A 235 214,600,000 214,600
EIXNSALSE WS KR (Qah) 517,000 391,050 125,950
Dl 357,000
= 160,000
403 XX S S K201 A 517,000 391,050 125,950
J| 357,000
= 160,000
01 HXHNMAHEE = 517,000 391,050 125,950




SN AR
H: DB
O

ol QlAAY JIBIRE 22 DAY =31 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSESXE AMESHUS XA (LA
517,000,000 517,000
J| 357,000
< 160,000
SENIEFTNHEE 158,000 130,000 28,000
= 140,000
< 18,000
308 A EHHSOIA 158,000 130,000 28,000
= 140,000
< 18,000
01 HXNHMBHEELS 158,000 130,000 28,000
ONAH=E=R sgRL B 2e| 158,000, 000 158,000
= 140,000
< 18,000
HE2H I (ASFRA0 D) 80,688 77,430 3,258
Jl2ddi(Alzaoa) 80,688 77,430 3,258
Jl2dyl (A 30 ) 80,688 77,430 3,258
201 ¢er24] 38,760 36,720 2,040
01 At 2t 2/l 38,760 36,720 2,040
OAMTRAUNLRFL 38,760,000 38,760
202 044l 38,148 36,720 1,428
01 SLHOYI 38,148 36,720 1,428
OAgdUSR=A 38,148,000 38,148
203 ¥ S =&l 3,780 3,990 A210
04 FENSEHE=LH| 3,780 3,990 A 210
OA AU R=A 3,780,000 3,780




